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| X t Ad A" = A . then the evalize of 2 »
a: " ]‘_.I i !f
5 b) % o) % 9 75
3 1 J2) = 1, then the value of *—-’- is
L
a) iz| b) 2 6 %

4) Iz is 2 complex number such that ze C\R and

2) 0 b) 1 ¢
S) The polynomial x?-kx?+9x has three zer
a) k] <6 k=0

zl 3

a)3
k satisfies
d) k] 26

) If  sin 'xesin-ly+siniz the wvalue 2
pIOT A0 52019

a)o
7) sin (tan*‘:}, Ix] < 1 ll _ 1
1
%- € *]1 + %2 o :‘:!:
.i.'

réctangle inscribed In the ellipse a"' ' 5- =1is

c) 2 d)3

X

8) Area of

a) 2ab b) ab ¢) Jab d) 3
9) The focus of the parabola y2-8x-2y+17 = 0 is
a) (1, 4) b)(3, 1) ¢) (4, 1) d) (1, 3)
10) Which of the complex number is nearer to origin?
a) 1+4i b)=342i ¢)4-3 d) 142i
11) The tangent to the curve y2-xy+9 = 0 s vertical when
a)y=0 by = /3 oy=% d)y = £3

léJ The maximum product of two positive numbers when l:heirmmufthasqum
Is 200, is

4 fia
a) 100 b) 25 /5 c) 28 d) 2414
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a) (x+ydu D) (xylBgOu ) eyyriogu dyulec,,
14) If we measili™ the side of 8 cybe to U4 Luvaitth an error of 1,

. the error In BU! Calculation of the volunis '

U

=
a) 0.4 cu.cm b) G.45 cu. cm "'Mrm

|
15) The valve of f sin? x cas x dx
LS
2

a) 3/2 b) 1/2

A 1 n
16) If ém—dhg then a is
a)4 b) 1

17) At[? i]andBn[é }] thenAnB
o] e

18} The solution of the differential

c) 3

‘d)y = X*4¢

_ particular signa! in 2 day
in a queue to buy train tickats at 2 momen:
a)land 11 <) Il only " d)Ilang I

20) The © ned by a*b = 2% is not a binary operation

a) b)Z )R d)C

Part-B
1} Answer any seven questions. i) Q.No. 30is mmpu?mr.+

21) Find rank of the matrix by using mincr method [; :g ::1’ ?]
22) Construct the cublc equation with 199t 2, J/ ang 3,

23) Find the domalin of the gan ‘E- x?

™ !
24) 1 }a+B|=60, |a-6l = 40 and |3 = 22 then fing ] .
25) Suppose of (x) is differentiable function for all x wity pe,.y 4. 1erdy = 17.
What is the maximum value of f(7)7 (Y329 and 1(2) =
26) T wix,y) = x3-3xy+2y? x, y R find the inear approximation g0 di'az (1, -1)
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") ::;dr::;‘rﬂf“" tal equation for the tamdly of alt straight lines M'{‘W e - :
& F““f:ﬁ'"'s 8@ tossed once find the probability mass fungtion for number o s
heads, v
)} Pr ‘
» Ve Oe Morgan's law by using Yegth table 3

Part-C

e 1) Answer
&0y seven questions onfy. & ) Q No. 40 i campulisory

l[“'a 1 41\

M UWaA=lea 4
‘9\1 -8 :},Prnvuthufﬁlah'

32) Pro
ve by Vector method that the area of the quadrilateral ABCD having

diagonal AC and BO |5 % IAC x BD|

:fl Represant the complex number 1+i/3 in polar form,
) If p ang q are the roots of the equation

——

,» Show that

38) 1fthe equation 3x2+(3-p)xy+qy?-2
Q. Also determine the centre 2

37) If the radius of the
approximately how much w ™

38) Evaluate: 7 e
01+5
39) Find the mean ria randorn variable, x whose probability aensit .

+ X20
e

of the function f(x) = x*+32x.

function, is L(

Part-D
Note: Answer all the questions: IxSnas
41) a) Solve by Cramer’s rule, the system of equations x,-x, = 3, 2x, +3x, +4x, = 17,

(OR)

! 1
b) Iz = (cos @ + 5in 8) show that ' + 7 = 2€0SN8 ang #* - - = 2isinna

Show that normal at any point 8 to the curve x = a Cos 8 + ab sin 6,
8 ’ y = asin GT.I 8 cos 0 |s at a constant distance from the origin.

(OR)
- -' r
e . 1 dx
~ b] Evaluate: J5in i oosx
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4%) &) Assume ywater Issuing fram the end of 4 horizontal pipe, 7.5 m
above the groliDd, describes a paraboly path. The vertex of the parabolic
path is at the 8% of the pipe. At a position 2.5 m below due line of the
pipe, the flow of Water has curved outward ) ™ Dayond the wzm-c 1F Imr:
through the end ©f the pipe. How far buyond this vertidal fine ill the
water strike the 9round? i Sl i

(OR) S

1! Findd the non parametric form of vector equation

of the plane pasuing through the poimt (2 3 and Cartesian equationn

G) and paraltel to the

xe] Y1 2.3 X3
draight | - - e e Al B AL
raight lines 3 3 | and 5 . 3 _ Y
ﬂ-) = 1the roots of x* ¢+ px/4qu+r = 0 are in H.P. prove that Ipgr = 27rqg + 2p

(OR)
&

{}. 1
2 v snlet(2) e )] \
o Lomn.
M

45) «¢ Forthe function f(x) = 4x"+ 3x?- 6x+1 find
s ith redius a.

ﬂ:l 4! Find the area of the region bou ey =sinxandy = cos x

between x = % and x= 5* '} T

o

s
o} Soive; AL « /}:-v-
dx |\

(OR)
2] Find the volume of a sphere when rot

-

»

I
47) a] Ilfthep lity thaba Auoresceht light has a useful life of atleast 600
hours i probabiliies that among 12 such lights.

(i) exa il have a useful iife of atleast 600 hours.

(i) atlea will have a useful life of at least 600 hours.

(i) at least 2 will not have a useful life of atleast 600 hours,
‘ or)

bl Using the equivalence property, shd&: that pogs= (an]u (~pn -q)

&
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